

Essendant St Louis 13257 Corporate Exchange Dr, Bridgeton, MO 63044 800-989-7487 | www.essendant.com

Agilix SKUs

enMotion® Wall Mount Towel Dispensers

enMotion® dispensers are only available via a one-time lease through GP or authorized distributor.

Mfg # 59462A



ENMOTION® 10" AUTOMATED TOUCHLESS PAPER TOWEL DISPENSER BY GP PRO (GEORGIA-PACIFIC), BLACK, 1 DISPENSER1 DISPENSER, (LxWxH) 14.7" x 9.5" x 17.3"

Mfg # 89460

K



ENMOTION® 10" PAPER TOWEL ROLLS BY GP PRO (GEORGIA-PACIFIC), WHITE, 6 ROLLS PER CASE6 ROLL(S) @ 800 Linear Feet per roll, 4800 Linear Feet per Case, Towel (WxL) 10" x 9600"



Mfg # 89480



ENMOTION® 10" RECYCLED PAPER TOWEL ROLLS BY GP PRO (GEORGIA-PACIFIC), BROWN, 6 ROLLS PER CASE6 ROLL(S) @ 800 Linear Feet per roll, 4800 Linear Feet per Case, Towel (WxL) 10" x 9600"



Pacific Blue Ultra[™] Paper Towels & Dispensers

Mfg # 59590



PACIFIC BLUE ULTRA® AUTOMATED HIGH-CAPACITY PAPER TOWEL DISPENSER BY GP PRO (GEORGIA-PACIFIC), BLACK, 1 DISPENSER1 DISPENSER, (LxWxH) 12.9" x 9" x 16"

Mfg # 26490



e 🕑 🛞 🎙 Sustainable

Mfg # 26495



PACIFIC BLUE ULTRA® 8" HIGH-CAPACITY RECYCLED PAPER TOWEL ROLLS BY GP PRO (GEORGIA-PACIFIC), BROWN, 6 ROLLS PER CASE6 ROLL(S) @ 1150 Linear Feet per roll, 6900 Linear Feet per Case, Towel (WxL) 7.87" x 13800"



Compact® Coreless Bathroom Tissue & Dispensers

Mfg # 56784A



COMPACT® 2-ROLL SIDE-BY-SIDE CORELESS HIGH-CAPACITY TOILET PAPER DISPENSER BY GP PRO (GEORGIA-PACIFIC), BLACK, 1 DISPENSER1 DISPENSER, (LxWxH) 10.12" x 6.75" x 7.12"





Essendant St Louis 13257 Corporate Exchange Dr, Bridgeton, MO 63044 800-989-7487 | www.essendant.com

Agilix SKUs

Mfg # 19375



COMPACT® CORELESS 2-PLY RECYCLED TOILET PAPER BY GP PRO (GEORGIA-PACIFIC), 36 ROLLS PER PACKAGE36 ROLL(S) @ 1000 Sheets, Sheet (WxL) 3.8" x 4"



Mfg # 19378



COMPACT® CORELESS 2-PLY RECYCLED TOILET PAPER BY GP PRO (GEORGIA-PACIFIC), 18 ROLLS PER PACKAGE18 ROLL(S) @ 1500 Sheets, Sheet (WxL) 3.8" x 4"



Mfg # 56744B



COMPACT* 4-ROLL QUAD PLUS CORELESS HIGH-CAPACITY TOILET PAPER DISPENSER, BLACK, 1 DISPENSER1 DISPENSER, (LxWxH) 12" x 7.19" x 14.535"

enMotion® Touchless Wall Mount Skin Care System

enMotion® dispensers are only available via a one-time lease through GP or authorized distributor.



Mfg # 42714

ENMOTION® GEN2 MOISTURIZING FOAM SOAP DISPENSER REFILLS BY GP PRO (GEORGIA-PACIFIC), DYE AND FRAGRANCE FREE, 2 BOTTLES PER CASE2 BOTTLE(S) @ 1200 ML, 2400 ML, 1200 ML

e 🥢 🕲 🕐

Mfg # 52057

ENMOTION® GEN2 AUTOMATED TOUCHLESS SOAP & SANITIZER DISPENSER BY GP PRO (GEORGIA-PACIFIC), BLACK, 1 DISPENSER1 DISPENSER, (LxWxH) 6.54" x 11.72" x 4"

Industrial Hand Cleaners



Mfg # 44627

GEORGIA-PACIFIC HEAVY-DUTY GEL INDUSTRIAL HAND CLEANER DISPENSER REFILLS, CITRUS, 4 REFILLS PER CASE4 BOTTLE(S) @ 3000 mL, 12000 mL, 3000 mL



Mfg # 54011

GEORGIA-PACIFIC MANUAL INDUSTRIAL HAND CLEANER DISPENSER, BLUE, 1 DISPENSER1 DISPENSER, (LxWxH) 3.3" x 7.13" x 3.61"



printed:1/20/2025



Essendant St Louis 13257 Corporate Exchange Dr, Bridgeton, MO 63044 800-989-7487 | www.essendant.com

Agilix SKUs

All Brawny Wipers



Mfg # 21501

BRAWNY® PROFESSIONAL DISPOSABLE WET HAND CLEANING TOWELS BY GP PRO (GEORGIA-PACIFIC), BLUE, 6 BUCKETS PER CASE6 EACH @ 84 Towels, 504 Towels per Case, Wiper Open (WxL) 8.6" x 12.2"



Mfg # 29221

BRAWI BOX(E

BRAWNY® PROFESSIONAL P200 DISPOSABLE CLEANING TOWELS, ¼-FOLD, WHITE, 2,960 TOWELS PER CASE20 BOX(ES) @ 148 Towels, 2960 Towels per Case, Wiper Open (WxL) 8" x 12.5"



Mfg # 25070

BRAWNY® PROFESSIONAL H700 DISPOSABLE CLEANING TOWELS, TALL BOX, WHITE, 500 TOWELS PER CASE5 BOX(ES) @ 100 Towels, 500 Towels per Case, Wiper Open (WxL) 9" x 16.5"



Mfg # 20075

BRAWNY® PROFESSIONAL D300 DISPOSABLE CLEANING TOWELS BY GP PRO (GEORGIA-PACIFIC), TALL BOX, WHITE, 1,100 TOWELS PER CASE10 BOX(ES) @ 110 Towels, 1100 Towels per Case, Wiper Open (WxL) 9.2" x 15.6"



Sustainability and GP PRO

Our commitment to sustainability is an important aspect of stewardship at Georgia-Pacific, and we are proud to introduce the GP PRO sustainability platform. We believe it is our duty to responsibly manage the resources that we share with our community and the planet, while consistently seeking ways to provide more sustainable solutions to the customers, businesses and people who rely on our products.

The GP PRO sustainability framework reflects how we operate in an environmentally conscious manner while ensuring that our products and services meet the needs of our customers. Through these efforts, we aim to drive long-term value creation and keep our customers' success front and center while reducing our impact on the environment and maintaining compliance amidst rapidly changing environmental regulations.

The GP PRO Sustainability Framework

This framework represents our pillars of focus and the strategies we can apply to reduce environmental impacts while meeting customer and consumer needs. Our strategies fall under three focus areas: Source Responsibly, Responsible Manufacturing & Distribution, and Reduce Waste.

Pillars	Source Responsibly	Responsible Manufacturing & Distribution	Reduce Waste
Strategies	Promoting Healthy Forests	Reducing Energy & Emissions	Controlled Usage Dispensing Systems
	Using Recycled Content	Efficient Distribution	Design for Recyclability or Compostability
	Emerging Alternatives to Plastic	Packaging & Product Optimization	Educate to Increase Recovery

elements.

Use of the elements[®] **logo signifies our commitment to sustainability.** With our cohesive and comprehensive elements[®] platform, we aim to make sustainability understandable and solvable. How? By highlighting product claims, characteristics, and providing knowledge to enhance understanding of sustainability.

For more information about sustainability and GP PRO solutions, **please visit** <u>www.gppro.com/elements</u>

